
3.  gr;irg;gaW – tp gp vd; ($p$p;) 3 

 

 

rpwg;gpay;g[fs; 

• mjpf kfNy; 
• mjpf g[ujr;rj;J (24.16 rjk;) 
• k";rs; njky; neha;f;F vjph;g;g[j;jpwd; 
• rhk;gy; neha;f;F vjph;g;g[j; jd;ik 
• bjhlh;e;J g{f;Fk; jd;ik  

 
cUthf;fk; : nf 1 / ntY}h; cs;~h; tsh;g;gpd; 

fyg;gpdk;  
 

taJ  : 65-75 ehl;fs; 
 

gUtk;   : Mog;gl;lk; ($%d; - $%iy)
g[ul;lhrpg;gl;lk; (brk;lk;gh;-mf;nlhgh;) 
ijg;gl;lk; (gpg;uthp-khh;r;) 
 

kfNy;  : 826  fpnyh / vf;lh;
,wit  - 878  fpnyh / vf;lh; 
khdhthhp  - 775  fpnyh / vf;lh; 
(tk;gd; 2/ nfh 6 kw;Wk; nfh ($p$p) 7 
,uf';fis Kiwna 16.0/ 19.0 kw;Wk; 8.0 
rjk; TLjy; kfNy;) 
 

mjpfgl;r kfNy; : 1600 fpnyh/ vf;lh;
 

gaphpl cfe;j 
khtl;l';fs; 

: fd;dpahFkhp kw;Wk; ePyfphp jtpu 
jkpHfk; KGtJk; cs;s midj;Jg; 
khtl;l';fspYk; gaphpl Vw;wJ  


